
Anlage 2

Auswirkungen Anhebung Gewerbesteuerhebesatz

Gewinn

Geschäftsführergehalt

Hinzurechnung/ Kürzung

Summe

Freibetrag

Gesamtertrag

x Steuermesszahl 3,5% 3,5% 3,5% 3,5%

=  Gewerbesteuermessbetrag

Hebesatz 395% 420% 395% 420% 395% 420% 395% 420%

= Gewerbesteuer 11.060 €     11.760 €     5.530 €        5.880 €        4.977 €        5.292 €        3.456 €        3.675 €        

Anrechnung auf Einkommensteuer

(Gewst.-Messbetrag 2.800 € x 3,8) 10.640 €     10.640 €     ./. ./. 4.788 €        4.788 €        ./. ./.

Belastung p.a. 420 €           1.120 €        5.530 €        5.880 €        189 €           504 €           3.456 €        3.675 €        

Mehrbelastung p.a.

Beispiel 2

Einzelunternehmen GmbH

315 €                                   219 €                                   

1.260 €                                875 €                                   

36.000 €                              25.000 €                              

24.500 €-                              ./.

4.500 €-                                4.500 €-                                

60.500 €                              25.000 €                              

65.000 €                              65.000 €                              

./. 35.500 €-                              
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Beispiel 1

Einzelunternehmen GmbH

109.000 €                           

./.

4.500 €-                                

104.500 €                           

109.000 €                           

64.500 €-                              

4.500 €-                                

1.400 €                                

700 €                                   350 €                                   

40.000 €                              

./.

40.000 €                              80.000 €                              

2.800 €                                

24.500 €-                              


